






































































































































































































































































































































































































































































































































































































































































































































































































































































































































O LASERWRITER Il WIRING DIAGRAM Laser/

— ,
Scanner l Mot PEA §“ Bioce PCA LJ

Assembly v wrolllee wal
4 3 4 S
b—1k b ach Optical ; I
. +5V g2 1 | | H Fiber M;"]gr l
B13 “NWh TOON . =N WA o[ J201 |\|\ Power
m mo [Nk OO0 I+ n
B14 32 oz gzgg %0 92 383 aND < < 1z Supply
2+ 2 Os o < 1 & 2 k3 Block
B15 3 3 8 > 2 5 [« GND 654321] ® 23
™ ¢ e z 2 lesv J3 1 AC-COLD 1=
4 ":\)’ U F:a AC-HOT 3 o
Al - F1
] A1 o [(mesET DC @
A2 NC 7 [(REMOTET] .
B2 w212 g [LA » Power 101 2
A3 NC e S Supply ! Bl e
B3 . 8 -
e A4 CMD 10 S' =g 1 37 K,I |N 23
= B4 l{ A5 CPRDY 12 | a3 > >28 R e
o B85 o | a6 PRNT- IS 13 +24VB \gg 3 <8
o] 2‘73 le—| A7 PCLK" 14 - 224VA = 4 S ~13
(o} . T
| A8 sBSY
B e = g =
8, A10 BD 2 HEATER [5]3
a1 [ A10 J208 , [, GND (@B HE mE
> 9 le— B1 s Lo t2VAR) “12] m
B10 S
3 Ll | g
811 |3 5| @
A2 3 B2 ROY DC B
= B3  CCLK ] »
2218 [ s wo  Controller Paper |21 &
Ad Board +5V(BR) Delivery J332 »
le— B5 vSYNC oa 7 £ 7 < sensor ©
AS < 4205 6 |-L2P(SB) 6 <] PS331 |l 3
" l«—{ B6 CBSY 5 |- GND(BL)5V 5 < 2l T
v «{ B7 sTS 1206 4 | -FSATH(PK) 4 - ;2 <
l«—| B8  VSREQ" 4 |_PEXP(Y) 3 <1 Precon- >
A8 e« B9 PPROY | GND 24V(BL) > - gmoning +24V
24V (R xposure :
A +— B10 FG 1 2R 1 <=1 Circuit |J334 J333
A10
Eg‘g ry TEMPL® — | | A1 Es FG I l
o Mo B T8
A12 anual
mEg| sl JAML” T+ FG e Foed Paper | | pooe! 322 321
o ‘g o A13 N 2 «— SG lSensolr out
2 A4 ; T e .
5 3 . 24va o Levpess [ onofusv LTE, Preconditioning
p— +, o
c 3 A15 s e PO DAV pot Exposure
s Q A16 3 —NC 7 [V 7% - Pickup Assy
R 8 ] 4 ——DBDC* 6 GND 2 Roller
__+5V 6 i
ERly = 3 I3 5 ——.5V +24V Q _|Sgenoid | saav
o 6 ——DBAC" 213 ° e 5% ] i o
mOP I~ Ll PouT 7 ——GND 4 4 Regs- || Distribution
o3 2 8 ——HVION® 3 |«BEGD 3 tration || Board
. 9 +5V CSENS2® D SSlonoid
. rum SL302
mEP 3 feROYL 10 —— HVTON* 2 2 - sensttivity
8 4331 1 +5V Switches T
- 12 ——TPA* 1 je-CSENAT" |, _| SW302 GND
13 ——TSTPT
14 ——TPB*
15 —— RDYINH" Toner
16 TSTPTE® YT I e ™ Cartridge
17 ——LPCK 8 M anoeu 18 Primary
18 ——CSNT1* 7 (BY 17  Corona
19 —— SCNON* 6 DBDCMV) |
20 —— CSNT2* 5 |« ISENS(Y) | Discharging
Jsan 4 DBAC'(V) 4 Transfer
3 HV10N(GY) 3 Corona
s 2<— GND
Py 2 HVRST(PK) 2 Deveioper _
° 14— +24VA HVTON(SB) , P T Bias ]
1 1
3§ (ACsDC) ®
J207 k] N
g >
S J603
13
: Q
ngh a N
3
Voltage Low
oner
Power .
Supply hi

8.2 / Appendix rev. Jan 92 LaserWriter il LaserWriter Il Wiring Diagram









& Apple Technical Procedures

LaserWriter |l
lllustrated Parts List

J CONTENTS

IPL.3  External Panels (Figure 1)

IPL.5  Main Body (Figure 2)

IPL.7  Upper Main Body (Figure 3)

IPL.9  Bottom Case, #1 (Figure 4)

IPL.11 Bottom Case, #2 (Figure 5)

IPL.13 Power Cord Terminal Assembly (Figure 6)
IPL.15 Pressure Assembly (Figure 7)

IPL.17 Hinge Assembly (Figure 8)

IPL.17 Gear Drive Assembly (Figure 9)

IPL.19 Paper Feed Drive Assembly (Figure 10)
IPL.19 Main Motor Assembly (Figure 11)

IPL.21 Shutter Assembly (Figure 12)

IPL.23 Cassette Holder Assembly (Figure 13)
IPL.25 Paper Feed Roller Assembly (Figure 14)
IPL.25 Feeder Assembly (Figure 15)

IPL.27 Transfer Guide Assembly (Figure 16)

IPL.29 Fixing Delivery Assembly (Figure 17)
IPL.29 Delivery Coupler Assembly (Figure 18)
IPL.31 Transfer Corona Assembly (Figure 19)
IPL.33 Fuser Assembly, Top View (Figure 20)
IPL.35 Fuser Assembly, Exploded View #1 (Figure 21)
IPL.37 Fuser Assembly, Exploded View #2 (Figure 22)
IPL.39 Electrical Components Assembly (Figure 23)
IPL.41 High-Voltage Power Supply (Figure 24)
IPL.42 Refurbishment Kit

IPL.43 Spring Kit

IPL.45 LW II NTX Controller-1/O Board (Figure 25)
IPL.45 LW II NTX Controller-I/O Board (rev. 3) (Figure 25)
IPL.47 LW II NT Controller-1/O Board (Figure 26)
IPL.49 Cables (Figure 27)

IPL.49 Screw Kit

IPL.51 LW IIf Controller-I/O Board (Figure 28)
IPL.51 LW IIg Controller-I/O Board (Figure 29)

The figures and lists in this section include all piece parts
available from Apple for the LaserWriter 11, along with
their part numbers. These are the only parts available from
Apple. Refer to your Apple Service Programs manual for
prices.

LaserWriter Il rev. Oct 91 lllustrated Parts List / IPL.1



FIGURE 1

LaserWriter Il

rev. Jul 88

IPL.2 / lllustrated Parts List



‘ O EXTERNAL PANELS (Figure 1)

ltem  Part No. Description
1 590-0380 AC Power Cable
2 949-0218 Rear Panel
3 949-0004 Upper Right Panel
4 936-0041 Status Panel Cable
) 971-0005 Status Panel
6 949-0219 Front Panel
7 949-0003 Lower Right Panel
8 949-0142 Release Button

LaserWriter Il rev. Mar 89 Hlustrated Parts List / IPL.3



FIGURE 2

IPL.4 / lllustrated Parts List Jan 88 LaserWriter Il



O MAIN BODY (Figure 2)

Part No.

949-0144
949-0182
971-0007
971-0025
949-0184
949-0183
949-0148
983-0012

00~ O W B W N Ig

LaserWriter |l

Description

Panel, Upper

Lever, Top Cover InterLock
Mirror Assembly

Pre-Cond. Exp. Lamp Assembly
Arm, Preconditioning Assembly
Cover, Grounding

Panel, Upper Front

Latch, Magnetic Holder

Jan 88

lliustrated Parts List / IPL.5



FIGURE 3

IPL.6 / llustrated Parts List rev. Mar 89 LaserWriter Il



" O UPPER MAIN BODY (Figure 3)

tem PartNo. = Description

NNV RO N e

LaserWriter ||

971-0023
949-0143
971-0006
949-0147
949-0145
949-0146
970-0046

Delivery Assembly
Heater Cover

Paper Deflector

Copy Tray

Main Tray

Auxiliary Tray

Static Charge Eliminator

Note: The following part shown in this diagram is
available as part of the Spring Kit:

A Paper Deflector Spring (5/pk)

rev. Jul 91

lllustrated Parts List / IPL.7



FIGURE 4

LaserWriter |l

Jan 88

IPL.8 / Nlustrated Parts List



0 BOTTOM CASE, #1 (Figure 4)

tem Part No.
1 949-0150
2 661-0426
3 936-0042
4 956-0010
5 949-0149
LaserWriter |l

Description

Plate Pin, Right, Fusing Assembly

DC Controller PCA

Cable, Optical Fiber

Foot, Rubber

Plate Pin, Left, Fusing Assembly

Jan 88

lllustrated Parts List / IPL.9



FIGURE 5

LaserWriter Il

rev. Jun 89

IPL.10 / lllustrated Parts List



0 BOTTOM CASE, #2 (Figure 5)

N

ltem PartNo. Description

1 949-0153 Left Guide Rail

2 971-0008 Connector PCA

3 949-0154 Bottom Panel Cap

4 949-0152 Bottom Panel

5 948-0132 Grounding Bracket

6 931-0030 Screw, Capt. Shoulder, 3 x 0.5 mm (10/pk)
7 949-0151 Right Guide Rail

8 959-0021 Lower Fan

LaserWriter Il rev. Jun 89 lllustrated Parts List / IPL.11



FIGURE 6

LaserWriter Il

rev. Mar 91

IPL.12 / lllustrated Parts List



QO POWER CORD TERMINAL ASSEMBLY (Figure 6)
ltem  PartNo. Description

1 661-0427
661-0443
961-0007
971-0038
961-0003
959-0022
076-8130
076-8131

N OoOwnM AW

LaserWriter |l

Power Supply Block, 110 V
Power Supply Block, 220/240 V
Ozone Filter (for case with door)
Ozone Filter Case with Door
Ozone Filter

Upper Fan

Bushing/bearing, Type JP, 10/pk
Bushing/bearing, Type T, 10/pk

rev. Mar 91 llustrated Parts List/ IPL.13



IPL.14 / lllustrated Parts List

FIGURE 7

rev. Dec 88

LaserWriter li



0 PRESSURE ASSEMBLY (Figure 7)

item  Part No. Description

1 971-0010 Pressure Assembly
949-0231 Cassette Stop, Right

3 949-0232 Cassette Stop, Left

LaserWriter li rev. Dec 88

lilustrated Parts List / IPL.15



&=

LEFT HINGE ASSY
ONLY

—
£ (@00

FIGURE 8

FIGURE 9 (

IPL.16 / lllustrated Parts List Jan 88 LaserWriter Il




O HINGE ASSEMBLY (Figure 8)

Item  Part No. Description
- 971-0011 Hinge Assembly, Right
- 971-0012 Hinge Assembly, Left

0 DRIVE GEAR ASSEMBLY (Figure 9)

ltem  Part No. Description
- 971-0013 Drive Gear Assembly

LaserWriter 1l Jan 88 ilustrated Parts List/ IPL.17



FIGURE 10

FIGURE 11

IPL.18 / lllustrated Parts List Jan 88 LaserWriter Il




O PAPER FEED DRIVE ASSEMBLY (Figure 10)

Ite Part No. Description
- 971-0015 Paper Feed Drive Assembly

0 MAIN MOTOR ASSEMBLY (Figure 11)

ltem  PartNo. Description
- 971-0014 Main Motor Assembly

LaserWriter i Jan 88 ustrated Parts List / IPL.19



FIGURE 12

IPL.20 / lllustrated Parts List rev. Mar 89 LaserWriter |l




0 SHUTTER ASSEMBLY (Figure 12)

tem Part No. Description
- 971-0016 Shutter Assembly
1 949-0158 Arm

Note: Some of the parts shown in this diagram are
available as part of the Spring Kit.

A Shutter Spring (5/pk)

LaserWriter Il rev. Mar 89 lllustrated Parts List / IPL.21



FIGURE 13

LaserWriter |l

rev. Mar 91

IPL.22 / lilustrated Parts List



0 CASSETTE HOLDER ASSEMBLY (Figure 13)
ltem PartNo. Description

1 949-0162 Right Hook Guide

2 949-0164 Right Lifter

3 949-0160 Right Hook

4 661-0423 Laser/Scanner Assembly
5 949-0166 Paper Sensing Arm

6 936-0048 Laser Harness Cable

7 939-0024 Gear, 57T, Paper Pickup
8 939-0023 Gear, 19T, Paper Pickup
9 949-0247 Main Body Block
10 949-0165 Auxiliary Guide
11 949-0159 Left Hook
12 949-0163 Left Lifter
13 949-0161 Left Hook Guide I

Note: Some of the parts shown in this diagram are
available as part of the Spring Kit.

Right Lifter Spring (5/pk)
Right Hook Spring (5/pk)
Left Hook Spring (5/pk)
Left Lifter Spring (5/pk)

ooOw»

LaserWriter rev. Mar 91 lllustrated Parts List / IPL.23



FIGURE 14

FIGURE 15

LaserWriter Il

Jan 88

IPL.24 / llustrated Parts List



0 PAPER FEED ROLLER ASSEMBLY (Figure 14)

tem  Part No. Description
- 971-0017 Paper Feed Assembly
1 959-0023 Roller, Pickup

O FEEDER ASSEMBLY (Figure 15)

lte Part No. Description

- 971-0018 Feeder Assembly

1 939-0025 Gear, 24T, Feeder Guide
2 970-0047 Cleaner Brush

LaserWriter |l Jan 88 illustrated Parts List / IPL.25



FIGURE 16

89 LaserWriter i

IPL.26 / Hlustrated Parts List



0 TRANSFER GUIDE ASSEMBLY (Figure 16)

ite Part No. Description
- 971-0019 Transfer Guide Assembly
1 970-0048 Separation Pad

Note: Some of the parts shown in this diagram are
available as part of the Spring Kit.

A Transfer Guide Spring (5/pk)

LaserWriter il rev. Mar 89 lllustrated Parts List / IPL.27



FIGURE 17

FIGURE 18

IPL.28 / lllustrated Parts List Jan 88 LaserWriter Il




) Q1 FIXING DELIVERY ASSEMBLY (Figure 17)

ltem

1
2

Part No. Description

971-0020 Fixing Delivery Assembly

971-0021 Delivery Roller

076-8414 Claw, Separation, Fuser Assembly (10/pk)

0 DELIVERY COUPLER ASSEMBLY (Figure 18)

ltem PartNo, Description
- 971-0022 Delivery Coupler Assembly
LaserWriter Il rev. Oct 91 Hlustrated Parts / IPL.29



FIGURE 19

IPL.30 / lllustrated Parts List rev. Oct 91 LaserWriter 1l




jtem Part No.

971-0026
949-0167
958-0007
949-0168
935-0004
970-1036
076-8126

NN W =

LaserWriter ||

0 TRANSFER CORONA ASSEMBLY (Figure 19)

Description

Transfer Corona Assembly
Cover, Right

Pad

Cover, Left

Lope, Guide

Tension Spring, Corona Wire
Corona Wire Set, 2 each

rev. Jan 88

llustrated Parts List / IPL.31



=
WARNING ABREIE
HIGH TEMPERATURE
ACHTUNG! HEISS
TEMPERATU?!EEI'E\'I%: ADVERTENCIA
TEMPERATURA ELEVEDA
FIGURE 20
IPL.32/ lllustrated Parts List Jan 88

LaserWriter I}




) 0 FUSER ASSEMBLY, TOP VIEW (Figure 20)

ltem  Part No. Description
- 661-0440 Fuser Assembly, 110 V
- 661-0444 Fuser Assembly, 220/240 V

LaserWriter |l rev. Oct 91 lllustrated Parts List / IPL.33

b
L
\
|
)



FIGURE 21

LaserWriter li

rev. Oct 91

IPL.34 / lllustrated Parts List



0 FUSER ASSEMBLY, EXPLODED VIEW #1 (Figure 21)

Item PartNo. Description
1 949-0204 Holder, Right Heater Term
2 938-0003 Heater Bulb, 115 V, 620 W
938-0004 Heater Bulb, 220 V, 570 W
3 947-0007 Roller, Upper, Fuser Assy, LaserWriter II
4 949-0203 Holder, Left Heater Term
5 925-0009 Thermosensor, 210° C, Fuser Assembly
6 970-1314 Fuser Lid
7 970-0049 Fuser Roller Cleaner

Note: Some of the parts shown in this diagram are
available as part of the Spring Kit.

A Fuser Spring (5/pk)
B Fuser Cam Spring (5/pk)

LaserWriter Il rev. Oct 91 lllustrated Parts List / IPL.35



FIGURE 22

LaserWriter |l

rev. Apr 92

IPL.36 / lllustrated Parts List



N

0 FUSER ASSEMBLY, PARTIAL EXPLODED VIEW #2 (Figure 22)

tem

NN RN =

LaserWriter |l

Part No.

939-0032
939-0033
939-0034
959-0033
984-0005
949-0186
948-0035
949-0240
948-0034
957-0038
959-0034
947-0007
939-0035
939-0042

Description

Gear, 32-Tooth, Fuser Assembly
Gear/Arm Assembly, Fuser Idler

Gear, 27-Tooth/18-Tooth, Fuser Assembly
Bearing, Lower Fuser Assembly Roller
Roller, Lower Fuser Assembly
Delivery Sensing Lever
Static Eliminator

Paper Fuser Guide

Cap, Roller, Fuser Assembly

Spring, Fuser Roller Grounding

Bearing, Upper Fuser Roller
Roller, Upper Fuser Assembly

Gear, 20-Tooth, Fuser Assembly
Gear, 14-Tooth, Fuser Assembly

Note: The following part shown in this diagram is
available as part of the Spring Kit.

A

Fuser Spring (5/pk)

rev. Apr 92

Hlustrated Parts List / IPL.37



FIGURE 23

IPL.38 / lllustrated Parts List Jan 88 LaserWriter ||



O ELECTRICAL COMPONENTS ASSEMBLY (Figure 23)

ltem Part No. Description’
1 661-0424 DC Power Supply, 110V
661-0442 DC Power Supply, 220/240V
2 941-0005 Fuse, 125V 6.3
740-0061 Fuse, Medium Time Lag 3.15A, 250V
3 971-0028 Distribution PCA
4 949-0187 Distribution PCA Cover

LaserWriter Il rev. Mar 89 lllustrated Parts List / IPL.39



FIGURE 24




‘) 0 HIGH-VOLTAGE POWER SUPPLY (Figure 24)

item Part No. Description
- 661-0425 High-Voltage Power Supply

LaserWriter | rev. Jul 88 lllustrated Parts List / IPL.41



0O REFURBISHMENT KIT

Part No.

652-0597

IPL.42 / lllustrated Parts List

Description

Refurbishment Kit

The parts included in this Refurbishment Kit are listed

below. Refer to

the figures listed to find the

illustrations for these parts.

Part No.

6061-0440
971-0017
971-0019
971-0025
971-0026

Jul 88

Description See Figure #
Fuser Assembly 20
Paper Feed Assembly 14
Transfer Guide Assembly 16
Pre-Cond. Exp. Lamp Assembly 2
Transfer Corona Assembly 19
LaserWriter I




0 SPRING KIT

Part No. Description
076-0269 Spring Kit
The parts included in the Spring Kit are listed below.

Refer to the figures listed to find the illustrations for
these parts.

ription See Figure #
Paper Deflector Spring, (5/pk) 3
Shutter Spring, (5/pk) 12
Left Hook Spring, (5/pk) 13
Right Hook Spring, (5/pk) 13
Right Lifter Spring, (5/pk) 13
Left Lifter Spring, (5/pk) 13
Transfer Guide Spring, (5/pk) 16
Fuser Cam Spring, (5/pk) 21
Fuser Spring, (5/pk) 22

LaserWriter Il Mar 89 llustrated Parts List/ IPL.43



IPL.44 / lllustrated Parts List

FIGURE 25

Jun 89

LaserWriter Il



) 0 LW Il NTX CONTROLLER-I/O BOARD (Figure 25)
Part No. Description

ltem

O N AWV AN WN =

661-0429
342-0560
342-0562
342-0564
342-0566
342-0567
342-0565
342-0563
342-0561

LaserWriter II NTX Controller-I/O Board

IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,

LLO, LaserWriter II NTX
LL1, LaserWriter II NTX
LMO, LaserWriter II NTX
LM1, LaserWriter II NTX
HM1, LaserWriter II NTX
HMO, LaserWriter II NTX
HH1, LaserWriter II NTX
HHO, LaserWriter II NTX

O LW Il NTX CONTROLLER-I/O BOARD (rev. 3) (Figure 25)

ltem

WO NV R W N = |

LaserWriter Il

Part No. Description

661-1605
342-0711
342-0713
342-0715
342-0717
342-0718
342-0716
342-0714
342-0712

LaserWriter II NTX Controller-I/O Board (rev. 3)

IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,
IC, ROM,

Note: Figure 25 illustrates both the LaserWriter II NTX
controller-I/O board and the LaserWriter II NTX

LLO, LaserWriter II NTX
LL1, LaserWriter II NTX
LMO, LaserWriter II NTX
LM1, LaserWriter II NTX
HM1, LaserWriter II NTX
HMO, LaserWriter II NTX
HH1, LaserWriter II NTX
HHO, LaserWriter II NTX

controller-I/O board (rev. 3).

rev. Oct 91 Hlustrated Parts List / IPL.45



. /4

B io00
C gaaquc:
o vm‘)

FIGURE 26

IPL.46 / lllustrated Parts List rev. Oct 91 LaserWriter ||




QO LW Il NT CONTROLLER-I/O BOARD (Figure 26)

fem PartNo. Description

LaserWriter II NT Controller-I/O Board

[o IR B« WAV, IV NROS I S|

LaserWriter I

661-0438
342-0546
342-0548
342-0550
342-0552
342-0551
342-0549
342-0547
342-0545

IC,
IC,
IC,
IC,
IC,
IC,
IC,
IC,

ROM,
ROM,
ROM,
ROM,
ROM,
ROM,
ROM,
ROM,

HO, LaserWriter II NT
H1, LaserWriter II NT
H2, LaserWriter II NT
H3, LaserWriter II NT
L3, LaserWriter II NT
L2, LaserWriter II NT
L1, LaserWriter II NT
LO, LaserWriter II NT

rev. Oct 91

lllustrated Parts List / IPL.47



1a00m
M

naann
Wi

IPL.48 / lllustrated Parts List

Ly

FIGURE 27

rev. Oct 91

LaserWriter Ii




O CABLES (Figure 27)

tem PartNo.
1 936-0103
2 936-0101
3 936-0100

4 936-0102

Description

Cable, DC Controller to Fuser, LaserWriter II

Cable, DC Controller to High-Voltage Power Supply,
LaserWriter 1I

Cable, Power Supply Block to DC Power Supply,
LaserWriter II

Cable, DC Controller to Power Supply Block,
LaserWriter 11

0 SCREW KIT

Part No.
076-0355

LaserWriter Il

Description
Screw Kit

The parts listed below are included in the LaserWriter
II Screw Kit. The quantities listed are included in the
kit. These parts are not sold separately.

Screw, Binding Head, 3 x 6mm, Nickel (10/pk)

Screw, Binding Head, 4 x 8mm, Nickel (10/pk)

Screw, Binding Head, 3 x 6mm, Black Zinc
(10/pk)

Screw, Washer Head, 3 x 10mm, Nickel (10/pk)

Screw, Washer Head, 3 x 6mm, Black Zinc

(10/pk)

Screw, Washer Head, 3 x 12mm, Black Zinc
(10/pk)

Screw, Washer Head, 3 x 10mm, Black Zinc
(10/pk)

Screw, Self-Tapping, 3 x 6mm, Black Zinc
(10/pk)

Screw, Self-Tapping, 3 x 8mm, Black Zinc
(10/pk)
rev. Oct 91 lllustrated Parts List / IPL.49



FIGURE 28

%0 908 ¢

F.GURE 29

IPL.50 / lllustrated Parts List Oct 91 LaserWriter Il



)

3 LASERWRITER Iif CONTROLLER-I/O BOARD (Figure 28)

tem

—

N WU W N

Part No.

661-0770
661-0520
661-0519
076-0863
076-0862
076-0861
076-0860
076-0418

Description

LaserWriter IIf Controller-I/O Board

SIMM, 1 MB, 80 ns

SIMM, 256K, 80 ns

IC, ROM, UU (341-0863), LaserWriter IIf and IIg
IC, ROM, UM (341-0862), LaserWriter IIf and IIg
IC, ROM, LM (341-0861), LaserWriter IIf and IIg
IC, ROM, LL (341-0860), LaserWriter IIf and Iig
Assy, LaserWriter IIf Controller-I/O Board Bracket

0 LASERWRITER lilg CONTROLLER-1/O BOARD (Figure 29)

ltem

N OOV NN =

LaserWriter |l

Part No.

661-0769
661-0520
661-0519
076-0863
076-0862
076-0861
076-0860
076-0417

Description

LaserWriter IIg Controller-I/O Board

SIMM, 1 MB, 80 ns

SIMM, 256K, 80 ns

IC, ROM, UU (341-0863), LaserWriter IIf and Iig
IC, ROM, UM (341-0862), LaserWriter IIf and IIg
IC, ROM, LM (341-0861), LaserWriter IIf and IIg
IC, ROM, LL (341-0860), LaserWriter IIf and IIg
Assy, LaserWriter IIg Controller-I/O Board Bracket

rev. Apr 92 Hlustrated Parts List /.IPL.51






